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ur choices for cach objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
A1 xE0 g x£is K35 szt b w99k FHU B |
11 Km 30 Km 15Km 35 Km About 99% of atmosphere’s mass lies within
E2UE Wz | Al f0 Fur S PP e i L sgeiny | 2
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Na,SiO; NaCl CaCl,
Which one of the salts is used to dry a gas?
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Condensation | Resonance | Catenation Isomerism | The ability of carbon atoms to form chain is called
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Silk Nylon Wool Cotton Which one of the following is a synthetic fibre?
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